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Circun polar S Ears o

Most of the questions involve the vse of the declina tioy

of a star and aw o LScr\lcrfS [at;tude , to determine wWhethew
the Star will he Circvmpolar .

The Condition fe  cirevuepo farity (P
D 2 %°~-L

Where D is the de clinetion 0f The star awug L 75 44,
(atitode of +the obscever. :
Re minder : from a qgiven locatiou (Cj 57° N) the Aug (e of
¢levation of Polarcs adove the Nor fherw horigow will coval Ehe
[atitude of the location, tuat (s, Tolaris will b S§7° abow
the ‘\orf]ou.; ITf the awquler dictance of a Sstar frow Polaris
as  less then Ethis, thew it will Rever Set  as the Ear th

rotates ow its axis. Since the declination of Polaris

l.'s +~ 906, t‘\¢ Awn 30[*1- dis tQWCc OF a s '&QP }ﬁu ral&"‘.‘
s (30— 3). S 5 (30— )i L e
the star will be circuncpolar.

@ An olserver in the Sheltand Isles (!a.\':itud‘ GO'N) 0 serves
twa Stars (n Pegasvs . Which, (f ef ther, Will be Cl'rc«/m.folu?

Ans. (») P P‘g- (d:c{"uaffou + Zgr)

(90 - L_) T 90° - 60°
= 30°
tie
dcclt'u_o.'(:iu.. oF Frgg. < 30° S Star s not cfrcvupolqr,
, » a

Cb) Ly P¢3 (A.Cc{fma.'&(’og + 330)
(90 - L) = 30°

declination of T Peg. > 30°

2. m 'ng . is  cirevmpolar,



®

Find  t4e Swmalfest (fka{: is, Scutkcmmof’é) [atitvd,
for Whichk Thuban (OL Dra.cani;) With a declination

of. £4..° would be Cl.rcusupolau- .

Ans.

For the Swallect lakitvde D = (90"- L)

L . (90"-1))
: L = (50° - 64°)
L = 2¢°
D.F.
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